‘ reland

Ciie

ULADH
Aontroim
Ard Mhacha
An Cabhan
Doire
Dun na nGall
An Dun
Fear Manach
Muineachdn
Tir Eoghain

Ulscer

[\

96 + 12 =
10x11=

8)(4:

88 + 11 =

72+9=
24+ 6 =
11x9=

11%x11=

12x7 =

Dé MaAirt 5U-Obair

MUMHAN
An Clar
Corcaigh
Ciarrai
Luimneach
Tiobraid Arann
Port Lairge

Munster

Marban

Litriu: Caige Laighean

LAIGHEAN
Ceatharlach
Baile Atha Cliath
Cill Dara
Cill Chainnigh
Laois
An Longfort
An La
An Mhi
Uibh Fhaili
An larmhi
Loch Garman
Cill Mhantdin

ireland

Contaetha na hEireann

CONNACHT

Gaillimh
Liatroim
Maigh Eo

Ros Comain

Sligeach

Connaught

Leinster

Laifean
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Tablai

12x8=__ 66 +11=__
10x10=__ = 7x6=

5x4= 5x7=_

81+9=__ 9x10=
3x3=_ 22+11=__
7x6=_ 27+3=_
4+2=___  2x9=__

1x4=__  5x11=__
1Mx10=__  10x5=__
10x12=___ 4x12=____







English Version

Capacity = More millilitres and litres

1.

How much liquid Is there In eoch jug?

{a) Smoothie

(e) Which liquid is there least of?
() Which liquid is there most of?

{g) What is the totol measure of arange juice and water? mil
{(h) How much more orange julce is needed 1o make 11 of juice? ml
(1) How much less water is there thon the smoothie? _ml

. How many millilitres of liquid can each container hold? Estimate then measure

to the nearest 50 millilitres. (Hint: A drop of water is about TmL)

(a) | Cup i ton with woter.

(b) | Eqg cup
() | Bowl
(d) | Gloss

(e) | Yogurt carton

Which is best for measuring the capacity of the following: litres or millilitres?
: (b) : d)




Pompeii agus Sliabh Vesuvius

Samhlaigh go bhfuil td slan sabhailte trasna an fharraige ag féachaint ar Sliabh Vesuvius ag pléascadh . Imagine you are safely across

the bay when Vesuvius erupts.

Cad a chloiseann t4? What can you hear?

Cad a fheiceann ta? What can you sce?

Conas a mhothalonn td What can you feel?

{ Cén bolit a fhaigheann ti? What can you smell?
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